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The Second Industrial Revolution:

Increasing Wealth and Poverty – 1890s
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Task: Read the two short bios above and answer the following questions in your notes. 

Questions: 

1. What similarities do you notice between Andrew Carnegie and Theodore Dreiser? 

2. What did Carnegie set out to do during the Depression of 1873?

3. How did the Depression of 1873 affect Dreiser? 

4. How are these two men’s lives interconnected? 

5. How could one make the argument that Dreiser’s poverty is, to some degree, the result of Andrew Carnegie’s wealth? 

6. What do these two stories reveal or suggest about the positive and negative affects of the second industrial revolution on American citizens? 

Andrew Carnegie emigrated with his family from Scotland at the age of thirteen and as a teenager worked in a Pennsylvania textile factory.  During the 1850s, Carnegie was hired as a telegraph operator for the Pennsylvania Railroad Company – for a time the nation’s largest corporation.   By the eve of the Civil War, Carnegie was promoted to one of the Pennsylvania Railroad’s major management positions.  During the depression that began in 1873, Carnegie set out to establish a monopoly or “vertically integrated” steel company – that is, one that controlled every phase of the business from raw materials to transportation, manufacturing, and distribution.  By the 1890s, he dominated the steel industry and had made a fortune worth hundred of millions of dollars.  








Theodore Dreiser emigrated with his family from Scotland at the age of thirteen and as a teenager worked as a breaker boy in a Pennsylvania coal mine.  Theodore and the other men in his town mined the coal that was used to make steel.  Dreiser worked a “slave’s life,” with long hours, late and early, seven days a week. During the depression that began in 1873, Theodore lost his job.  To make matters worse, many of his coal-mining friends died due to a work-related accidents.  In the hope of receiving higher wages for what the government referred to as an “unskilled job” – that is “a job that supposedly required little skill,” Theodore and other workers attempted to conduct a strike.  As expected, the strike failed, as Theodore’s employer found it easy to call on the unemployed to take the strikers’ job if the strike did not come to an immediate halt.  
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